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And I will say; these words refer to a minor — ;73R Y99 5157 RN

OVERVIEW

The X3 seeks to prove that the w1 7P 703 (of [both a 7ivp and] a 77vI)
belongs to the father; for if the father has the right to be w7pn his daughter as
it states' °nn1 °na nX, then certainly he retains the w1 7P 702, The Xna
challenges this proof; perhaps the 2105 of *n2 nX (which indicates the father’s
[exclusive] right to be w7pn his daughter) refers to a mivpP, who (because she
1S a minor) cannot accept 7?17 703, however a 771 (who is considered an
adult) can indeed accept 1 7P on her own and therefore keep it as well.
mooin first explains (as does °"w1) what is meant that the 105 of °n2 nX
refers to a 71vP (when seemingly it does not). In addition mooIn discusses
the ramifications if we interpret N2 NX to refer to a 7I0p.

mDoIN anticipates a question:
— 3 m9P0) ¢an o 29NT NP PN NPT 23 9Y N
Even though the 05 is referring to a 79yi, as it is written, ‘and they

shall stone her’; punishment is never meted out to a minor, so the woman in question
must be an adult (a 77¥3) -

—*9908 NIVPN Y ¥ DY NOYINT NI
And furthermore one who is 9"w X°X¥ on a mvp is exempt from the
punishments mentioned in the 77n. Therefore it is obvious that the entire episode of a
7"wxm (where the P09 of °nNa NX is written) is concerning a 77¥1. How can the X773 ask
that perhaps *n2 nx refers to a mavpP?!

mooin replies:
— 99X 2907 M0 W 0PN Yan

Nevertheless it is possible to say that this is what the 7105 means -
— A9 NN ANY NIV NNPAYI NN YWIRD YNNI Na NN

‘I have given my daughter to this man (through 7"217°?) when she was a
mwp; however now (when the claim of 2"wx¥1» was made) she is a 72173’

" 1v ,22 (X¥n) ©™27. The 7wno there is stating the case of a ¥ 0w X*¥1, who claims that his newly married
wife was not a 77102. This 09 states that the father of the woman tells 7"2 that 131 *nn1 °na nX; indicating
that it is within the power of the father to marry off his daughter (even against her will).

2R ?100. The 109 teaches that if the claim of the 7"wx is vindicated and witnesses testify that the woman
committed adultery while she was nwTpn, she receives the punishment of 77°p0.

? See “Thinking it over # 1.

* If the claim of the 1"w¥m was found to be false he is punished and is required to pay the #Xn ¥ *2R
no3, in addition to receiving mp%n». This punishment does not apply if his accused wife is presently a favp.
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Therefore the question of the X723 remains valid, that there is no proof that a father can be
w7pn his daughter 77v1 Xonwa.

mooIn continues to challenge the s'k M2 question (that the 105 of *na nNX refers to a 71vP
[only]): 5
— NP PIVNIN XD MIVPY RN 9NN ON)

And if you will say; however there is no necessity for the 02 to teach us
concerning a ;1wp, that the father [is w7pn her, and] receives her Pw17°p 701 -

— NP PYITP G0 1Y A 29T XYM
For if he can sell her, as a maid servant, it is obvious that the P27 o2
belongs to the father —

mooIN cites a source to sug)port this contention:
— (8, 97 mams)  NNNINY NIV P92 S nwym ) 19299N NI INNIT

For the X773 in annoniw 791 P95 states a similar argument concerning

the 77975 WY of a mwp. We should say the same thing concerning w17’ 703. Since
the father owns her (monetary rights) for he can sell her, hence [he should have the power
to be wipn her, and] any income that is generated [including 1w17°? f©2] belongs to the
father. The question remains, since the P10 of 31 °N2 NX cannot be referring to a mvp for
it does not teach us anything (for we already know it from the abovementioned
reasoning), therefore® it must apply to a 77v1. Hence we now know that the 7w17°p qo3 of
a 771 belongs to the father.

madiIn answers:
— 37 NDT 91290 W

And one can say; that there is no similarity, between the logic of the X3
concerning the 7°7> qwyn (of a mivp) that it belongs to the father, and the logic that nvoINn
wants us to entertain concerning the 217°p o3 of a 7vp. MdOIN explains:

— 19593 NNINDNIY 9NV DT> NVWYN 991 NI99YI 25 XN N NYYN *2)T
For concerning ;7°7° nwyn the logic is valid, for when he sells her as an
72X he is actually selling her 7757 7wy» for she is being sold for her work
that she will produce for the owner. Therefore if the father has the right to sell her nwyn
77, then obviously her 77> 7wyn belong to him; otherwise what right does he have to sell
it!

> See “Thinking it over’ # 2.

® Any income that is generated (by the 71vp) is called 7 mwyn; literally; the work of her hands.

" The X3 there claims that it is obvious that the father owns the 777 Jwyn of a m1vp, for since he can sell
her for an 71°72v71 X and keep the money, then certainly he owns whatever income she produces (when she
is not sold).

¥ Alternately; how can the Xn3 ask 730p »"71 X=°X), perhaps the P109 is referring to a 71vp, since there is no
need for a 109 regarding m10p?!
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— 799132 N9W XY PUITD YaN

However the concept of sale is not applicable to P@73P. The father cannot
sell her Pw17°P (as he can sell her 71°7° nwyn). Therefore the fact that he can sell her does
not indicate that he owns her rrz;wp.“’

mMooIn anticipates and resolves a difficulty with this previous statement that her P17 is
not up for sale:
— 9913w 9053 13990 1Y 1195w 29 Yy 9N

Even though the master of the 72X can be 7¥*% her (which would signify
that the rights of her w1 7P belong to the father); nevertheless this Ty is

accomplished with the money of her sale -
— ANY 75T DIV 19981 NY wnm NdWITIPa YaN

However we do not find that the father possesses any right concerning
her actual 7P,

mooin ask an additional question:
— ANY NN NYYNY (ow) NIYI 7992 1999IN NN 9NN ON)

And if you will say; this which the X723 states in 779p1 P99 that the work

of the daughter (even if she is a 77¥1) belongs to the father -
— NNANYNN NYVANY 29 Y IR NINY N9DIY NN A%y ot

For the 7 n gave the father the right to deliver her to the 727 even

though he restrains her from working -
— NIINA 199 2911 ©IVIIPA BNN YD)

And a "w1 explained there that we know that the 770 gave the father

the right of o> mvon -
— N9INY N920N ITPAN MIONI U5 ¥IWNT YIND 'NN N2 NN NI

° The fact that the father may sell her, does not indicate that he owns her, but rather that he merely owns her
77 wyn, therefore he can sell her, for he is selling her [primarily] to work for the 117X. The fact that he can
sell her for work is no indication that he owns her right to become nwmpn (and to receive the 1w 7R 702).

!0 Therefore a 109 is necessary to teach us that the 1217°p 703 of a mavp belongs to her father.

"1 is the process by which the master of the AnX can acquire her for his wife. He informs her that she is
betrothed to him with the money he already paid the father to purchase her as his nX. We might therefore
assume that the father has the right to marry her off to the 117%. However, m201n rejects this notion.

"2 The 1778 can be 79 the X because he gave money to the father to purchase her as an 7»X. The 71N
gave the 717X (not the father) the right to be 7y™» her with that money. However the 770 did not give the
father any right other than selling her for an 772X, but not to marry her off. NMaon writes that the 7 is
performed 71on1w 7032 with the money with which she was sold, but it is not 7"¥17°p qo3. When a father is
w7pn his daughter the money is given PwI7°p w2, however here the NIX gives the father money 77791 ow5.
This answer applies even if we maintain 1101 PITP? D21WRIT MYA (see later R,v° and >"92 [here] 0 NI ).

" This was the initial logical argument given there to prove that the 7°7> 7wyn of a 791 is 72K
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Since it is written 2°X% snn1 >n2 nX; which indicates all types of ‘giving’;

including delivering her to the 797, even though he is depriving her from
working (during this time of 191% 77°01); this proves that he owns her 7> nwyn. This
concludes the citation of that X723 (and >"w7°d). MdOIN concludes his question:

— NOD 9INRTI XD N9¥) DANR MIVP 299 2N NN NINI INDY

And what proof is there that the 7>7 nwvn of a 771 belongs 7°2X?; let us
say as we say here perhaps this phrase (of *n2 nX) is referring to a mup,
but not to a 7w1?!

N1B0IN answers:
— ¥5pwr9a75 19¥33 599K TH93 YY SN SN NN RIP INNT 9199 U

And one can say; that perforce this 02 of "nn: sn2 nR is discussing a

79w as I previously explained -
— MIVP NNV NN SN NN YIDY 991 PUITIP Pyt 51

And granted that concerning the P@7°P we can explain >nn: °n2 nX to

mean that he was w7Pn her when she was a mup -
— 9933 NN W9Y 9WAN N NOINN

However the delivery to the 11231 can only be interpreted that it took place

when she is a 791 -
— NYPoA RYY PINA NI PANTYW ANIYI NN 19 DR MIVPA INT

for if the 7917 took place while she was a ;1vp, then she was a axw: when

she was ;71t» and her punishment is Pim and not 79929, The nur had to take

place when she was already a 719173, which is after her X1 -
: 61259151 NY mMIVP HY MR Hy4

For she is not liable for n1:t performed when she was a 73vp. Hence if she
was a 12172 she receives Pin. The 770 however prescribes 79°p0 indicating that she was
n1n before the 191 while she was a 79173 indicating that the 791% 77°0n was when she
was a vl

SUMMARY

The P of °nn1 °n2 nX indicates the right of the father to be wpn his
daughter and also be 10w her 1915, The content of the P09 is discussing a
woman who is presently a 77¥1; nevertheless we can argue that the 71°n1

14 By a m1vp there is no 79°p0 and the 2"w¥n is MpPHYn1 01PH WD,

'3 7597 is the process by which a woman becomes a XMW1,

'® The 79°p0 211 by an mama AWK is only if she is a 79173 and an 701X (not a Axw3). If the 7191 took place
while she was a muvp then the 7%°po 2vn for mMIr must have taken place when she became a 72173 after the
791, which makes her a nxw3. There is no 71°po 21 for a XA, The only way for her to receive 72°p0 is if
she was 1m before the 7191 while she was a 72173; indicating that by the 17917 she already was a 72173,
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TYITPY took place while she was a mivp. However the 719112 77°0n must have
been when she was a 717v3, otherwise there would not be 7%°po (but rather
?in). The 1"'p of "1 121 12 XNWH is appropriate to teach us that 777> wyn of
a mup belongs 2K, but not that the 117 (702) belongs °2aK5.

THINKING IT OVER

1. moon asks that the p109 is discussing a 771 since it says mopo1.'” Why
does not n1vOIN ask (as *"w7 does) that we are discussing a 77¥1 since the
P08 states 77¥1 there (many times)?18

2. Moo asks X TIVXOR XY T0P9 &, indicating that we can derive X7N1
X7p7 that the P09 is discussing a 771, However (even if T70%°R X9 m1wps
X7p), there is no X110 since the 2105 is necessary to teach us that the ax could
be 7915 w1 102 70! How can we derive that mar» gaw1 sunrp?!?

17 See footnote # 3.
'8 See 20 MX 92,
¥ See footnote # 5.
2 See R"wAn.
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